chaudiéres murales
GMR 3000 (15/25) Condens

CG=RTLI

1001

g

1002

Oertli Thermique Page 1/ 2 10/01/2025




chaudiéres murales

CERTLI
GMR 3000 (15/25) Condens

1001 S100938 PANNEAU AVANT 74,60 €

212



CG=RTLI

chaudiéres murales
GMR 3000 (15/25) Condens

2005 —=

2003 203%//'

AT
W 3
=24

20307 1 -
u’é/ ‘/":‘J’/ ),/{M |
A 2007—&D
e
[
20045~
el
T/
\ 2036
|
& |
|
2037%
Oertli Thermique Page 1/ 2 10/01/2025




chaudiéres murales

GMR 3000 (15/25) Condens
Réf Tarit Sub

CG=RTLI

0 $101340 SET SERVICEA(10 28KW) 63,70€

0 S101342  SET SERVICE C (Version Ml 10-28K\ 1 156,00 €

0 7680301 ECHANGEUR 25 (KIT PROCEDURE 1 7701124
2002 S100894 COLLECTEUR CONDENSATS 253M 1 93,80€
2003 S100703 CIRCULATEUR CLASSE A 1 297,00€
2005 S100909 TUBULURES DEPART ET RETOUR 1 199,00 €
2005 7702672 TUBE DEPART ECHANGEUR 1 39,80€
007 S100906  JOINT SIHON | 1 22,10
2010 S59597 JOINT TORIQUE 18X2.8 (10X) 1 16,20€
2012 $S100890 ELECTRODE ALLUMAGE / IONISAT 1 46,80 €
2014 S62105 JOINT ELECTRODE (10X) 1 18,20€
2016 S100880  JOINT BRULEUR 206X82 1 2460€
2017 97920027 PURGEUR AIR AUTOMATIQUE 1 46,20€
2019 S100891  TUBE SILICONE 8X4X900 1 2510¢€
2021 S100892  JOINT FUMEES - COLLECTEUR CO 1 2420€
2023 S100850 PRISE MESURE FUMEE 1 46,60 €
2025 $100848  CLIP POUR CONDUIT DE FUMEES { 1 25,00€
2028 S62232 OUCHON POUR PRISE DE MESUF 1 30,30€
2030 89141 VIS M5x18 (x15) 1 11,60€
203 5100838 RANSFOMATEUR D'ALLUMAGE . 87,20€
2036 St 0095 VASE D'EXPANSION 1 251,00€
2038 S44483 ECROU M 8 (x10) 1 12,10€
2050 S101005 SONDE TEMPERATURE HL 1 22,50€

212



chaudiéres murales
GMR 3000 (15/25) Condens

CG=RTLI

Oertli Thermique Page 1/ 2 10/01/2025




chaudiéres murales

GMR 3000 (15/25) Condens
Réf. Tarit Sub.

CG=ERTLI

3001 S100887 VANNE GAZ VK 4115V 1311 $101507 146,00 €
3002 S100886  VENTILATEUR RG 118- R14.2X1 (15 1 230,00€
3004 S100881  JOINT 83MM AVEC CLAPET 28KW 1 30,10€
3006 8100910 TUBE ALIMENTATION G 1 67,70€
3008 S56155 JOINT & 23.8X17.2X2MM (X20) 1 20,00€
3009 S101541 DIAPHRAGE BP 3.00MM (15KW) 1 12,10€
010 S100806 PIEE ACCORDEET 15MM 1 44,70
01 S101010 ECOU G3/ it 2,20

212



chaudiéres murales
GMR 3000 (15/25) Condens

CG=RTLI

oy

Ty

Y

4007 /Q

4008

015 //E% e Qﬂ
e

Oertli Thermique Page 1/ 2 10/01/2025




chaudiéres murales

GMR 3000 (15/25) Condens
Réf Tarit Sub

CG=RTLI

0 702309  SONDE EXTERIEURE AF60 7843657
0 119450  CARTE CONNECTION LIMANDE 38,30€
0 7602372 CARTE STORAGE UNIT PARAMETE 4510€
0  S100841 CABLE 230V INTERRUPTEUR 44,00€
0 300026345 INTERRUPTEUR MARCHE/ARRET } / )
0 300023645 HELICE VENTILATEUR AWHP 4-6 \ 128,00 €

4004 S43561  FUSIBLE 2 AT (10 pes) 31,70€

4006 S100821 SONDE PRESSION 61,50 €

4008 S101003 SONDE TEMPERATURE NTC (2X) 35,00 €

4010 S59372  COLLIER FIXATION (x10) 945€

4012 S62185  Vis KB30x8 (10 pcs.) 480€

4015 S48950 VIS M4x10 (x50) 7.30€

4017 S100869  JOINT SCU 2280€

4019 S62185  Vis KB30x8 (10 pcs.) 480€

4022 100860 CARCASSE SCU 92,80€

4024 S100847  CABLE BUS INTERFACE X11 LONC 39,10€

4026 S100840 CABLE 24V SONDES 112,00€

4028 S100844 CABLE BLOC GAZ ET TRANSFO AL 57,70€

4030 119450  CARTE CONNECTION LIMANDE 38,30€

212



chaudiéres murales
GMR 3000 (15/25) Condens

CG=RTLI

5046
| 5018 S
[M-5017 5041 >
[ 5038 ®//>\
e 2ANZ i
» RN 5044 A S
5015 \ 4% o: (o e
5008 \\g ; % gL--5017 r@ o /%:,g\f\ S0
@i = N ©> 5032 . }‘ ST YR '5@ 5037
% J (=)
) @’:5029 5017 5049—{@ P Pn0as LI
& g 5048——@ § =
5047 "y

: s 5010
|

w 5023 5023\

|

: ,@ 5023 \%f’

: \

: 5008‘5

|

| 5014 & 0= m=

T <50
~ \\5017 %\503

st e, 32
\‘\“\@//’/)6)

o

//(

I e g
%QN 5052@ o 0
5027 =N, i o
,//% 5053(5x)

EV 117177-5

AD-0800694-02

Oertli Thermique Page 17/2

10/01/2025




chaudiéres murales

GMR 3000 (15/25) Condens
Réf Tarit Sub

CG=RTLI

0 62185  Vis KB30x8 (10 pcs.) 480€
5004 S100822 HYDROBLOCK DROITE + ADAPT.+ 1 217,00€
5007 S100824 CORPS CARTOUCHE 1 96,20 €
5010 S$100821 SONDE PRESSION 1 61,50 €
5012 S59597  JOINT TORIQUE 18X2.8 (10X) 1 16,20€
5014 S100873  CLIP POUR TUYAU FLEXIBLE (5X) 1 55,90 €
5016 810810 JOINT TORIQUE 25.2x7 (2ox 1 3,10€
501 S100816  JOINT TORIQUE 22X2.5 (x10) 1 28,40
5022 S100814  CLIP 10.3 (5X) 1 9,80€
5025 S59141 VIS M5x18 (x15) 1 11,60€
5028 S100866 FLEXIBLE SOUPAPE DE SECURITE 1 59,10€
5030 S62727  PASSE FIL D.20mm (x15) 1 32,30€
5032 S100808 PIECE DE RACCORDEMENT 13MM 1 4590€
5037 S101046  CLIP DE FIXATION (KIT) 1 68,10€
5039 S100871 ROBINET 1/2"SANITAIRE 1 61,00€
5042 S100876 MANOMETRE 1 49,80€
5044 S101193  DISCONNECTEUR 1 86665557 62,20 €
5045 S101011 ENSEMBLE TUBULURES DISCONN 1 134,00€
5046 S100937 DOSSERET DE MONTAGE 1 248,00 €
508 S101195 RACCORD-ECROU 3/8"X12 (2X) 11,30€
5050 S10028 COLLECTEUR DE CONDENSATS 1 32,90€
5052 S56157  JOINT @ 18,3 X 12,7 X2 MM. (10 PC. 1 9,65€
5085 7680933 VIS M5x8 (x3) 1 7.50€

212



